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GUESS PAPER 2011

CLASS- XII

SUBJECT:ACCOUNTANCY
        Time allowed: 3 hours                                                                             Maximum Marks: 80

General Instructions:

(i)   All questions are compulsory.

     (ii)   Marks are indicated against each question

   (iii)   All questions must be done in prescribed format.

(iv) Attempt all parts of a question at one place only.

                                                             SECTION – A

                  (Accounting for Not-for-Profit Organisations, Partnership Firms and Companies)

Q1. A Not-For-Profit organization does not distribute its surplus to the members. Why? [1]
Q2.What is meant by ‘years of purchase’ in the context of valuation of goodwill in partnership accounts? [1]

Q3.Why are assets revalued at the time of admission of a partner? [1]

Q4.What is the entitlement of the legal representative of a deceased partner in the subsequent profit of the firm? [1]

Q5. At what rate, interest on calls in arrear can be charged by a company according to ‘Table A’? [1]

Q6. The following figures relate to a non-profit organization:

Stock of medicines on 1st January, 2010 Rs.10,000 ; Outstanding Creditors for medicines on 1st January, 2010   Rs.3500 ; Medicines purchased during the year Rs.24,000 ;  Value of medicine spoiled during the year Rs.700 ; Stock of medicines on 31st December , 2010  Rs.7,000 .

What amount to be debited to income and expenditure account? Show the workings clearly .[3]

Q7.State the purposes for which the balances in securities premium account can be used? [3]

Q8.Harita Ltd purchased a running business of Surbhi Ltd. for a sum of Rs.15,00,000 by accepting a bill of exchange of Rs.3,00,000 and balance was payable by issuing 10% debentures of Rs.100 each at a premium of 4%.

The assets and liabilities consisted of the following:

                      Plant and Machinery                         Rs.9,00,000
                      Building                                            Rs.4,00,000

                      Stock                                                 Rs.3,00,000

                      Debtors                                              Rs.  50,000

                      Creditors                                           Rs.2,00,000

Record the necessary journal entries in the books of Harita Ltd. [3]

Q9.P, Q and R are the three partners of a business. On 31st December 2000 after all the necessary adjustments, the capital account of P , Q and R stood as Rs.50,000 , Rs.30,000 and Rs.20,000 respectively.
It was discovered that interest on capital @ 5% per annum, had omitted. The profit for the same year amounted to Rs.70,000 and the partner’s drawings had been Rs.10,000 , Rs. 7,500 , and Rs.4,500,  respectively for P , Q, and R. The profit sharing ratio is 4:1:2. Calculate the interest on capitals and pass necessary adjustment entry. [4]
Q10. Lallu and Kallu are partners with capital of Rs.20,000 and Rs.15,000 respectively. They admit Ballu as partner for one-fourth share in the profits of the firm. Ballu brings Rs. 25,000 as his share of capital. Give journal entries to record goodwill. Show the workings clearly.  [4] 
Q11. Shreya Ltd. has 4,000 8% Debentures of Rs.100 each due for redemption on 31st March, 2005. The company has a debenture redemption reserve of Rs.1,50,000 on that date. Assuming that no interest is due. Record the necessary journal entries at the time of redemption of debentures. [4]

Q12. From the followings Receipts & Payments Account, of Lakshya club , prepare Income and expenditure account and Balance sheet of the Lakshya Club  as on 31st March ,2004 :

                                                   RECEIPTS and PAYMENTS ACCOUNT

                                                      for the year ended 31st March ,2004
Dr.                                                                                                                                                                      Cr.
	Receipts
	Rs.
	Payments
	Rs.

	To Balance b/d

Cash in Hand  Rs.25,000

Cash at Bank Rs.10,000

To subscriptions

2002-03 Rs.500

2003-04 Rs.700

2004-05 Rs.600

To Charity show receipts

To Donations

To Miscellaneous Receipts


	35,000

1,800

2,500

4,000

1,300


	By Expenses on Charity show

By Investments

By Insurance

By sundry expenses

By office Expenses

By Fax Machine

(purchased on 01/10/2003)

By salaries

By Balance c/d

Cash in Hand  Rs.6,400

Cash at Bank Rs.8,900


	1,100

10,000

2,000

400

700

2,600

12,500

15,300



	
	44,600
	
	44,600


Additional Informations:
(i) On 31/03/2004 , subscriptions of Rs.2,500 ( including Rs.200 for 2002-03) were in arrear.

(ii) Insurance charges of Rs.300 were prepaid.

(iii) On 01/04/2003 the club had the following assets and liabilities:

(a) Fax Machine  Rs.4,500.

(b) Investments  Rs.2,500

(c) Salary outstanding Rs.1,500 

(iv) Depreciation is to be charged on Fax machine @ 10% p.a.
(v) Donations are to be capitalized.          [6]
Q13.Pass the necessary journal entries for the following transactions at the time of dissolution of the firm:
(a) Loan of Rs.15,000 advanced by a partner to the firm of dissolution of the firm.

(b) X, a partner takes over an unrecorded asset (Typewriter) at Rs.3,000.

(c) Undistributed Balance (Debit) of P&L a/c Rs.60,000. The firm has three partners X,Y and Z.
(d) The assets of the firm realised Rs.1,50,000.

(e) Y who undertakes to carry out the dissolution proceedings is paid Rs.3,000 for the same.

(f) Creditors paid Rs.29,000 in full settlement of their account of Rs.30,000.    [6]

Q14. Pass the necessary journal entries for the following transactions in the books Heena Ltd. :

(a) Purchased 700, 9% Own Debentures of Rs.1,000 each at Rs.990 per debenture for immediate cancellation.

(b) Converted 350, 9% Debentures of Rs.100 each into equity shares of Rs.10 each issued at a premium of 25%.

(c) The company had a balance of Rs.15,00,000, 12% Debentures of Rs.100 each. Out of these 2,000 debentures were redeemed by draw of lots.  [6]
Q15. Parag Ltd.issued for public subscription 40,000 equity shares of Rs.10 each at a premium of Rs.4 per share payable as:

On Application


Rs.3 per share (including Re.1 premium)

On Allotment


Rs.5 per share (including Rs.2 premium)

On First Call


Rs.2 per share

On Second Call


Rs.4 per share (including Re.1 premium)

Applications were received for 70,000 shares. Allotment was made pro-rata to the applicants for 60,000 shares, the remaining applicants being refused. Money over paid on application was applied towards sum due on allotment. Aman to whom 1,800 shares were allotted failed to pay the allotment and call money. Mallika to whom 2,300 shares were allotted failed to pay the two calls. The shares of Aman and Mallika were subsequently forfeited after the second call was made. 3,000 of the forfeited shares were re-issued at Rs.8 per share fully paid. The reissued shares included all of Aman’s shares.

Pass Journal Entries in the books of the Parag Ltd. to record the above transactions.   [8]
Q16.Mohan and Rohan  are in partnership sharing profits and losses in the proportion 3/5 and 2/5 Their Balance Sheets as at 31st Dec, 2002 is as follows:

	Liabilities
	Rs.
	Assets
	Rs.

	Capital Accounts:

         Mohan’s                    

         Rohan’s
Contingency Reserve

Employees Provident Fund


	1,400

700

1,400

400


3,900
	Cash

Debtors                                      1,000

Less : Provision                            400
Stock

Plant 

Advertisement suspense a/c


	650

600

1,500

650

500

3,900


They decide to admit Sohan to a one-third share upon the term that he is to pay into the business Rs.1,000 as goodwill and sufficient capital to give him a 1/3rd share of the total capital of the new firm. It was agreed that the provision for doubt be reduced to Rs.100, the stock be revalued at Rs.2,000 and that the plant be reduced to Rs.500

Record the above in the ledger of the firm and show the Balance Sheet of the new Partnership.

Or
A, B & C are partners sharing profits in the ratio of their capitals. B retired from the firm on 31st March, 2004,

	Liabilities
	Rs.
	Assets
	Rs.

	Sundry Creditors

Bills Payable

Employees Provident Fund

Contingency Reserve

Workmen

Capital Accounts:

         A’s                    

         B’s

         C’s

	4,000

2500

500

12000

6000

25,000

20,000

15,000

85,000
	Cash

Debtors                                      6,000

Less : Provision                            400
Stock

Machinery

Land & Buildings

Advertisement suspense a/c


	5,400

5,600

10,000

28,000

30,000

6,000

85,000

85,000


The following Adjustment were made

a) Buildings appreciated by 20 %,Stocks depreciated by 10%,and Provision for d/d was to be 5%.A provision for legal charge payable was to be made at Rs.900

b) Goodwill of the firm be valued at Rs.12,000 and B’s Share in it be adjusted into the capital a/c without opening Goodwill a/c

c) As 24,000 from B’s capital a/c be transferred to his loan a/c and balance be paid in cash

d) New profit ratio of A & C decided to be 3: 2. Give the necessary a/c and the Balance Sheet of the firm after the B’s retirement.    [8]
                                                 SECTION – B
                                                       (Financial Statement Analysis)
Q17. The debt equity ratio of a company is 8:1. State giving reason whether the ratio improves, declines or does not change because of issue of bonus shares in the ratio 1:2. [1]
Q18. How will you deal ‘Interim dividend’ while preparing Cash Flow statements?  [1]
Q19. Give one limitation of Ratio analysis. [1]
Q20. Show the major headings into which the liabilities side of a Company’s Balance Sheet is organised and presented as per Schedule VI Part I of the Companies Act, 1956.   [3]
2                   Q21. From the following informations, find out the Cost of Goods sold, Sales and Closing Stock. 

                                a) Stock Turnover Ratio = 6 Times  

                                b) Gross Profit = Rs. 60,000

                                c) Gross Profit Ratio = 20%               

                                d) Closing Stock was Rs. 5,000 in excess of Opening Stock.   [4]
                   Q22. Prepare Comparative Income Statement with the help of the following informations:  [4]
	           Particulars
	       2006(Rs.)                                    2007(Rs.)

	Sales

Cost of Goods Sold

Indirect Expenses

Income Tax
	       200,000                                       300,000

       60% of Sales                               70% of Sales

       50% of Gross Profit                    40% of Gross Profit

       50% of Net Profit before Tax     50% of Net Profit before Tax    


Q23. From the following Balance Sheet Prepare a cash flow Statement for the year ended March31, 2005.
	Liabilities
	March 31,2007
	March 31,2006
	Assets
	March 31,2007
	March 31,2006

	Equity Share Capital

12% Pref. Share Capital

General Reserve 

Profit and Loss A/c

10% Debentures

Sundry Creditors

Provision for Tax

Proposed Dividend

Bank Overdraft
	1,80,000

20,000

4,000

2,400

14,000

22,000

8,400

11,600

13,600

2,76,000
	1,55,000

25,000

4,000

2,000

12,000

24,000

6,000

10,000

25,000

2,63,000
	Fixed Assets

Less:  Acc.dep.

Debtors

Stock

Prepaid exp.

Cash in Hand 


	1,80,000

30,000

1,50,000

48,000

70,000

1,000

7,000

2,76,000
	1,82,000

22,000

1,60,000

40,000

60,000

600

2,400

2,63,000


Additional information:
i) Fixed assets sold for Rs.10,000, their cost Rs.20,000 and accumulated depreciation till date of sale on  

them Rs.6,000

ii) Interim dividend during the year Rs.9,000.

iii) Tax paid Rs. 7,000.   [6]
                                                     * * * * * * * * * * * * * * *
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